
 onus I 5

Find a unit reitor that is in the same direction

of the vector U V if a 4 3 6,77 and L 2 2 37

step 1 Find U V 3 2 6 2 7 37 1 8 47

step 2 Find unit ventor using i hul FtEty To 9

So the unit veitor is 4 1 8,47

Q what if we had asked for the opposite direction

A multiply by C1 4 1 8 47

Q what if I wanted this vector to have a magnitude of 3

A multiply by 3 3 21,8 47

3 7 Let 4 24,2 47 Decompose F 2614,07 into two vectors

Fi and Fr where F is parallel to a and Fz is orthogonal

to a

Q What's another way of saying Fe is orthogonal to a

A Fz U 0

Fffstep 0 optional Draw a picture

µg



step 1 use prtoj.it I to find the projection of F fashiyuProject

onto a or F's set in the direction of a f
This is the vector parallel to a

fyc4 2 47 3 24,2 4 1412 4

step2
Now since F F E and we have Fu we just take F F Ft

Ft 26,9 07 24,2547

Reminders We do not usually hone in on your algebra Unsimplified

algebraic answers are okay Not preiale eat ones however

Example 552 is okay but not sin Hs

ther FAQs

I 9

a Break into horizontal us
ny Opp

vertical components
FIH

cdi
Uv

4 236cos 45 365in 45 Kronos does not accept in
for l d I



degree form but radianswill
20 cos 30 20sin 30 work n 436cos th 365inMn

220cos 76 20sin

2 2

Which are parallel to 41,2 37 u

2112 37

1 2,3 yes C 1 u

2 2 4,67 yes C 2 a
2 11 yes n

1,3 3

3 5 eagle btwn 7 2 2 6 2 5

slope int form y 7 2 y 6 5

Forevery

Make reins

Use angle formula cos 4 cost EIA
ws II

The acuteness here is not clear
from context but it would be on an examquiz

ex cos_ f 20 so the



right answer here would be 180 120 60


